WS- STANDARD
Class XII
CH- XI-The Plane

. The plane 2x — 3y + 6z — 11 = 0 makes an angle sin~! & with X-axis ,The
value of a is equal to

V3 V2 2 3V5
(a) (b) + (©) - (d)—
. The equation of the line in vector form passing through the
point (- 1,3, 5) and parallel to line “=>=—2"%="Zis

(a)7 = (=1 +3] +5k ) +A( 20 +3] + 5k )
(b)# = (-1 +3] +5k) +A( 21 +3])
(c)F=(20 +3] =2k ) +A( =1 +3] + 5k )
(d)7 = (21 +3] ) +A( =1 +3] + 5k )

3" 6

A A
. The distance of the plane 7 Gl +- Jj— - k) = 1 from the origin is

(a1 (b) 7 (c) % (d) none of these
. A plane meets the co-ordinate axes at A,B and C such that centroid of
AABC is the point (a,b,c) . If the equation of the plane is z + % + % =k,
then k is

(a) 1 (b) 2 (c)3 (d)none

. If the plane 2x-y+z=0 is parallel to the line % = Z_Ty = % , then the
value of ‘a’ is
(a)4 (b)-4 (c)2 (d)-2

. The line x;4 = yIZ = Z;k lies exactly on the plane 2x-4y+z=7 , then the
value of ‘k’ is

. The equation of the plane containing the line x_—+31 = yT_3 = # and the

point (0,7, -7) is .

. The image of the point (-1,3,4) in the plane x-2y=01is ______

. The angle between the the line # = § + 2j — k + u(21 + j + 2k) and the
plane 3x-2y+6z=01is____

: : . x-1_ y-2 3 :
10. The co-ordinates of a point on the line xT = yT = % at a distance 3

from the point (1,2,-3) are .

11. The reflection of the point A(1,0,0) in the line x; _yHl_zH10 L

-3 8 -




12.The sine of the angle between the straight 1inexT_2 = yT—3 = ? and the

plane 2x-2y+z=5 is .
13.Find the equation to the plane through the point (2,3,1) and (4,-5,3) and
parallel to x-axis.

14.Find the equation of plane perpendicular to the line xT_l = y—_f = % and

passing through origin .

15.Find the equation the plane passing through the points (2,2,1) and (9,3,6)
an d perpendicular to the plane 2x+6y+6z-1=0 .

16.Find the equation of plane passing through the points (2,1,-1),(1,1,1) and
(3,3,0).

17.Find the equation of the plane through the point (-1,2,0) and parallel to

. X +1 _ z-2 x—-1 _ 2y+1 _ z+1

thehnes§=yT=_—1 and T=YT=_—1 .

18. Find the equation of the plane passing through the intersection of the
planes x+2y+3z+4=0 and 4x+3y+2z+1=0 and origin.

19.Find the equation of plane passing through (1,2,3) and parallel to the
plane x+3y-5z=7 .

20.Find the point where the line segment joining (-1,2,3) and (2,3,4) meets

yz-plane .



